MENO

\f+2=___

Dopln.
2 7
9 3
Porovnaj.
8 6 10 9 7 8 10 6
3 5 4 4 8 7 6 5
Dopln sucet.
3|5 2| 2 7 6| 2 81 2
Dopln.
5 7 8 10
2 |+ 4 |+ + 5 |+
4 |+ 6 |+ + 9 [+
3t 3|+ + 7 |+
Vypoditaj. Dopln tabulku.
3+44=__ 9g_-3= (-D/ 56| 7
7+2= 5_4= 1
4+5= 8§—-2=
9+1= 10-6 = 2
5 + 3 = 6 —_ = 3
6+4= 4—4 =
10-5=

A MENO
Dopln.
0\ 2 7
9 3
Porovnaj.

8 6 10 9 7 8 10 6
3 5 4 4 8 7 6 5
Dopln sucet.

3|5 2| 2 7 6|2 8
Dopln.

5 v, 3 10

2 |+ 4 |+ + 5 |+

4 |+ 6 |+ + 9 |+

3| 3 |+ + 7 |+
Vypocitaj. Dopln tabulku.
3+44=__ 9-3= (P 5(6|7
7+2= 5-4= 1
4+5= 8—2=
9+1= 10-6= 2
6+4= 4—-4 =

10-5=

\\i+2=




